
Lecture 5-9/20

Finish simple TLS cal :

-> interactic pic ess ofendie
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-> specific cares of weak - stary excitatin
- Block sphere

-> light slutts
-> dressed stak,

-> Adiabaticity
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These concepts are of much wide impact than TLS D
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↳Block vector , sphere
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Measurement
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This shill is called Al Stark"

shill (or light skift") . While the-5-shift is also
visible
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it belongs to He state with a much smaller
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mark: Since all shifts are small and are

treated to lowest order in the intensity , we are

justified to treat them independently .


